FRAME ANCHOR REQUIREMENTS TABLE | T
) LaT: DATE:
OPENING TYPE FRAME/CLIP /BRICKMOLD/HINGE | MINIMUM | MINIMUM 95" MAX. FRAME WIDTH PO 6 | Moptz/or
(SUBSTRATE} TO OPENING FASTENER TYPE EMBED |EDGE DIST. ‘ 1 "
| BRICKMOLD (SIDES & HEAD) . Jondy , s
WIN. 2X4 WOOD FRAME OR BUCK NG. 6 X 1 1/2° SMS - . ; " MAX. —=— @ 1177 ! -6 M
(MIN. GR. 3 & G=0.55) (FLAT HEAD) 13/8 1/2 ! S . . s —— —— -
MIN. 2X4 WOOD FRAME OR BUCK ) ; P e e e e — 7! 2
(MN. GR. 3 & 6=0.55) 10D GALV. FINISH NAILS 13/8 1/2 6 MAX. i I ng_
] I i
| NSTALLATION CLIP T . i :
MIN. 2XZ WOOD FRAME OR BUCK ; , . | 74 4 TR Z
(MIN. GR. 3 & G=0.55) NO. 8 X 1 1/27 SMS 1 3/8 1/2 _ . i" FRAME SHEAR 2
SILI. SHEAR SCREWS il i TR LATIN 2
_ INSTALLATION .
MIN. 2X4 WOOD FRAME OR BUCK] . "o o\ o |1 T4 J L CLIPS WHERE 2
(MIN. GR. 3 & G=0.35 . 0D SCR 3/4 SIMILAR | © SHOWN AT HEAD
MIN. 2500 PS! CONCRET)E 1 3/16” " " & I ~ . T & SDES S
_ /16" CONCRETE SCREW 1 1/4 2 N | O%E I "FRAME ANCHOR
HEAD/JAMB SHEAR SCREWS | . ¥ REQUIREMENTS
MIN. 2X4 WOOD FRAME OR BUCK - . TABLE" ON THIS 2 2
(MIN. GR. % & G=0.55) NC. 10 SMS OR WOOD SCREW | 1 1/4 3/4" 5 16" MAX. || | SHEET FOR SCREW -5
g2 oc |l | REQUIREMENTS, sgw
(1) CONCRETE SCREWS SHALL BE ELCO OR ITW RAMSET/RED HEAD TAPCONS, HILTI w (AT SIDES) |1 1 -*dgii ©
KWIK-CON Il OR POWERS RAWL TAPPER (HARDENED STEEL OR S.S.). = I | 2. .47
oZ —-r 'r'_ % = % 033
L'_ —
GENERAL NOTES | . BRICKMOLD 223
1. BUCKING, OPENINGS & BUCKING FASTENERS MUST BE PROPERLY DESIGNE STALL g I - " | S d
BUGKING, OPENI D & INSTALLED TC TRANSFER WIND LOADS TO | | x| 2908
2. AL JCHORS SHALL BE iN ACCORDANCE WITH THESE DRAWINGS & MAY NOT VARY UNLESS SPECIFICALLY MENTIONED  %p | | 8| g8
. D j—
3. THESE DOOR SYSTEM INSTALLATIONS HAVE BEEN DESIGNED IN ACCORDANCE WITH & MEET THE REQUIREMENTS OF THE i —h b o o 24
2004 FLORIDA BUILDING CODE {F.B.C.) FOR NON—HVHZ (NON-HIGH VELOCITY HURRICANF ZONES). | | TYF. BRICKMOLD Sz =
4. THESE DOOR SYSTEMS ARE NON—IMPACT RATED & MUST BE SHUTTERED WHERE REQUIRED BY CODE. FRAME SHEAR SCREWS FASTENERS PER Z |2
5. ALL DOOR SIZES SPECIFIED ARE AS CONTROLLED BY THE TESTED UNITS. I WHERE SHOWN AT SILL | ; =0 i3]
B. TO THE BEST GF OUR XNCWLEDGE, THE DCORS SHOWN HEREIN ARE CERTIFIED AND/OR QUALTY ASSURED BY A | " : | FRAME ANCHOR o |5
FLORIDA STATE APFROVED CERTIFICATION/QA ENTITY & SHALL BE LABELED IN ACCORDANCE WITH THE STATE CODE & . | SEE "FRAME ANCHOR d REQUIREMENTS z
?II:IIQPJJESDSE_%EDEA':?QTJT#\%NFLR%FR %%“4%? Tﬁ%AI?SE%SgB%ACTBIIJILDING COMMISSION SPECIFICATIONS. BY LABELING | REQUIREMENTS TABLE™ | TABLE" ON THIS 5 E
| REspECIve E&Cﬁogésg“% o S ASSEMBLED IN ACCORDANCE WITH THEIR - R EoT FoR i SR (MTHI 47 2 -
. ECUR O0R FRAME TO PRESSURE TREA 3 i
OF RESISTING CORROSION CAUSED BY THE PRESSURE TRESING CLEE?AI&JLCSKSINOEHEW oo, e STALL 9 CAPARLE / / SCREW REQUIREMENTS. / | OF CORNERS & 2| = Bol
8 ALL ANCHORS SHALL BE INSTALLED AS SPECIFIED ON THESE DRAWINGS. SPECIFIED EMBEDMENT TO BASE MATERIAL i / / | 8"-10" MAX. 0.C) z | o, 43R
SHALL BE BEYOND WALL FINISH OR STUCCO. o W< 8L
9. THIS DRAWING CERTIFIES INSTALLATION ONLY (NOT MANUFACTURING OR WEATHER PROCFING OF THE DOOR). 1 : | Z| 5o E 3B
CERTIFICATION OF THESE DOOR INSTALLATIONS SHALL BE CONSIDERED VOID iF ANY OF THE FOLLOWNG APPLY: | | ! | el 275
1. JF THESE DOORS ARE INSTALLED BY ANYONE OTHER THAN A LICENSED CONTRACTOR EXPERIENCED WITH DOCR m B o | WS dgE
2. F THE DOORS ARE INSTALLED WITHOUT A PERMIT FROM THE APPLICABLE LOCAL BUILDING DEPARTMENT. 6" MAX. || | - &85 Eé g
3. IF THE DOOR INSTALLATION IS NOT INSPECTED ENTHER BY THE APPLICABLE LOCAL BUILDING DEPARTMENT INSPECTOR f = = i ' =N Ir=g-TL
OR ANOTHER PROFESSIONAL LICENSED TO PERFORM INSPECTIONS. ] | 1 1 ! S| £25z4
10. THESE INSTALLATIONS ARE BASED CN TESTING & RATIONAL ANALYSIS. TEST REPORTS CONSIDERED WITH THIS q L LL Ll Lo |, =8 =3k
CERTIFICATION ARE REPORT NO. 2005-386—8915REV BY STORK TWIN CITY TESTING CCRP. 8" MAX. M1 8" MAX. EH ER0 =2,
3" Z 3 g-e?i gy
: = ¢
EXTERIOR ELEVATION;
2 PANEL SLIDING DOOR ul
SCALE: 3/4"=1"-0" \ —~ 59
T,
ALLOWABLE DESIGN PRESSURE < %‘f
Y/—40 PSF < 72
NOTE: PRESSURES APPLY TO INSTALLATION 3 \i‘h{
ONLY & NOT DOOR ASSEMBLY CONDITIONS e 5 \5\
< $
L . DRAWING NO. |REV.
1559
SHEET NO.
1 o 2




SUBSTRATE BY QTHERS PER INSTALLATION CLIP ANCHORS PER ORARN B[

BRICKMOLD ANCHCR PER FRAME ANCHOR gggﬁg&ﬂ%‘ & 174" WAX. SHIM AT FRAME ANCHOR REQUIREMENTS FRAME ANCHOR REQUIREMENTS I -
ELEVATION & FRAME \ — FRAME WIDTH ————— TABLE ON SHEET 1 TABLE ON SHEET 1 (2 PER CUP) -
HAHOR. REQUIREMENTS TABLE ON SHEET 1 EACH ANCHOR N1 1/2" X 6 1/2" X 18 GA
TABLE ON SHEET 1 SUBSTRATE BY OTHERS SUBSTRATE BY OTHERS PER CONTINUOUS SILICONE 11 : 2
SEALANT BY OTHERS GALVANIZED METAL iNSTALLATION
CONTINUOUS SILICONE —\ REQUIREMENTS TABLE  TABLE ON SHEET 1 , WHERE SHOWN IN ELEVATION. - 3
" SEALANT BY OTHERS ON SHEET 1 : =
BEMIND BRICKMOLD - FRAME ANCHOR PER -~ 2" MAX. SHIM
1/27 MAX. ELEVATION & FRAME / ) | 1/2" MAX. .
S}-EHJL\AC 'fT ANCHOR REQUIREMENTS DCOR ECF)ESEEENT . /’;I :AE&D Sl 2
: ‘ TABLE ON SHEET 1 oooecd FRAME : %
TOE BEAD OF ANCHOR / BY QOTHERS i I_ AT SIDES &
SEALANT BY BRICKMOLD ANCHOR | ero 8
OTHERS o < PER ELEVATION & o EacH cup 1B
- \ E FRAME ANCHOR ' = S } =
BRICKMOLD - REQUIREMENTS TABLE i . % ‘ ¢
s ON SHEET 1 T // S
I CONTINUOUS SILICONE— ]
16 GA X 2 1/2.,/ SEALANT BY OTHERS \ < | /= =
' y BEHIND BRICKMOLD | DOOR 2 8
GALV. BRAD NAIL AT DOCR I 7 FRAME " g 9
8" 0.C. FRAME TOE BEAD OF SEALANT - NC. 8 X 5/8" SCREWS S g
BY OTHERS ‘ EXTERIOR A (2 PER CLIP) s =8
BRICKMOLD TN16 GA X 2 1/2° GALV. A 0 E‘iw‘?
BRAD NAIL AT 8" O.C. 8
SECTION . /& \ Sz
EXTERIOR SCALE: 1/2 FULL \2/ [EXTERIOR Z 339
B Z| x 548
] 8l g 2a®
: =
N ¥ o) E k]
, OPTIONAL INSTALLATION CLIP MOUNT DETAIL 1 Z| & =
= (HEAD SECTION SHOWN; SIDES ARE INSTALLED THE SAME) Sle
‘ & (FCR DETAIL NOT SHOWN, SEE OTHER SECTIONS) Zl &
' = SUBSTRATE BY OTHERS PER FRAME ANCHOR NOTE: CLIP IS NOT APPLICABLE AT SILL 5 2
REQUIREMENTS TABLE ON SHEET 1 %
, 2 comnﬁious SIUCON'E‘B;EALANT o OTHERS INSTALLATION CLIP ANCHORS PER FRAME ANCHOR o[£
v P —_— “
= CONTRUOLS SIICE ™ /(REQUIREMENTS TABLE ON SHEET 1 (2 PER CLIP) gl .
W l} 5|l 2 .7
=z e 2w
o A=ER
TYPE NOVAFLEX - T0E BEAD g| B<.5)
M150 : | o 3=
SEALANT/ADHESIVE. / BY OTHERS et ol Bg a0
e 1/ K 1/2" MAX. SHIM AT HEAD o] m5 5
DIAMETER = = : ol B4 38
CONTINLOUS BEADS A, SILICONE M \ﬁ( f—& 1/4” MAX. SHIM AT SIDES - 'ﬂ%% =54
2 BEADS) WHE NEXT TO EACH CUP 4 Q a5
éHOWN ) e /\[ oR =T oo MIN. 1 1/2° X 6 1/2" X 18 GA B égo 25
THOROUGHLY CLEAN . SCREW =l X : S -
SUBSTRATE % SILL N GALVANIZED METAL INSTALLATION lz A
HEADS : : B 2
SURFACES AS REGVD CLIP (MIN. 33 ksi YIELD STRESS) 5= 2
- WHERE SHOWN IN ELEVATION.
BY ADHESIVE NOTE: SILL MAY BE SHIMMED DOCR FRAME .
SPECIFICATIONS TO UP TO 3/8". IF SHIMMING A o
INSURE PROPER OCCURS SUCH THAT ADHESIVE N NO. 8 X 5/8" SCREWS - o
BOND. CAN NOT PROPERLY ADHERE \ {2 PER CLP) 22 by
SILL TO SUBSTRATE (TYPICALLY < S
\ MORE THAN 1/8" SHiM), EXTERIOR = ald 72
ADDITIONAL SILL ANCHORS | ! ! ol
_ ’ T ISHALL BE PLACED BELOW EACH | SIS &
18
N - PANEL CENTERLINE. . > g
S : SILL ANCHOR PER OPTIONAL INSTALLATION CLIP MQUNT DETAIL 2 T
FRAME ANCHOR SECTION ELEVATION & FRAME (HEAD SECTION SHOWN; SIDES ARE INSTALLED THE SAME) 1559
REQIREMENTS AN ANCHOR REQUIREMENTS (FOR DETAIL NOT SHOWN, SEE CTHER SECTIONS) SHEET NO,
TABLE ON SHEET 1  SCALE: 1/2 FulL \2/ TABLE ON SHEET 1 NOTE: CLIP IS NOT APPLICABLE AT SILL 2 o 2




'CBUCK Engineering

. . . CBUCK, Inc. Flovida Certificate of Authorization # 8064
Specialty Structural Engineering

Validation
of
Installation Instructions
for
Windsor Windows & Doors

Windsor Series
“Legend HBR Sliding Door”

Florida Product Approval
# F1.10085.1

In compliance with
Florida Building Code 2004

Prepared for:
Windsor Windows & Doors
900 S. 19™ Street
West Des Moines, IA 50265

Prepared by:
James L. Buckner, P.E.
Florida Professional Engineer # 31242

Florida Validation ANE ID: 1916
Report No. 07-303-2-VR

Date: 12/20/07 '
Contents: /Q\
Validation Report Pages1-2 es L uckner P.E.
F]orlda 31242
|z zot D7
CBUCK, Inc.

1334 S. Killian Drive, Suite 4, West Palm Beach, Florida 33403
Phone: {(561)491-9927 Fax: (561)491-9928 Website: www.cbuckine.net



CBUCK Engineering

FL #: FL 10085.1

Date: 12/20/07
Report No.: 07-303-2-VR
Page 20f2

Manufacturer:

Product Name:

Reviewed

Installation Instructions:

Installation Instructions
Engineer:

Technical Validation
Statement:

Validation Compliance:

Document Filing:

Reference Documents:

CBUCK, Inc. Flarida Certificate of Authorization # 8064

Specialty Structural Engineering

Windsor Windows & Doors
“Legend HBR Sliding Door”

Drawings by Warren W. Schaefer, P.E. (Florida P.E. #44135)
1. Drawing No. 1559, Sheets 1-2 , Signed & Sealed 10/19/07

Warren W. Schaefer, P.E. (Florida P.E. #44135)

A review of the above referenced installation instructions and supporting
data including test reports, anchor calculations, alternate supporting
substrates and referenced technical documents demonstrate resulis
equivalent or superior with the tested samples. The additional anchors
have been verified to comply with acceptable standards of engineering
principles and demonstrate compliance with Florida Building Code, 2004
with Supplements.

The installation instructions comply with the technical wvalidation
requirements of Rule 9B-72.080(2)(c).

A copy of this validation report, above referenced installation drawings
and all supporting data will be filed with CBUCK Engineering as long as
this validation is effective.

1. AAMA Test Report (FBC Organization #CER 1D:1498)
By Stork Twin City Testing Corp.
Report #: 2005-386-8915.rev, Report Date: 1/17/06



